ECE 2240 PRACTICE EXAM #2 prob 3 solution ]

Ex:

Using superposition, derive an expression for ij that contains no circuit quantities
other than ig, vg, R1, Ry, and a.. Note: o0 > 0.

soln: We +turn on one independent source at
a time. Dependent sources are always on.
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Because oFf the open circuit, the current
M'VXI ﬂow; thru RZ and E_f_‘f/ll‘l-l R,.

The current -)clowin7 down thru R,
i3 Vvx(/R,.

Vr = - A Vyx,
R\

The only possible solh is vy =0, {,<CA.

Or we can use the node-woltage
method.
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Sinke x>0, I1+«R{ # 0.

Thus, Vvi+tvg = oV or Vv,==Vg.

This means the Vol-l:qye Adrop across
R,+R2 is ov, giving L, =0A.
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